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Because tobacco products are estimated to
be responsible for more than 3 million deaths
annually worldwide, its impact on global
disease is ----, but not yet fully appreciated.

A) versatile B) vulnerable

C) profound D) convenient

E) eligible

Since language is a universal human
experience and a unique mechanism for
communication, from behavior and cognition to
culture, it has a/an ---- impact on every single
aspect of human life.

A) subtle B) urgent

C) empirical D) hectic

E) dramatic

The road systems were a/an ---- part of the
Inca Empire, not only because they facilitated
the movement of armies, people, and goods
but also because they provided an important

physical symbol of imperial control.
A) meager B) laborious
C) indispensable D) debatable

E) ambiguous

While food-borne illness is a grave threat to
any age group, people over 65 are in particular
---- due to weakened immune systems, chronic
diseases, immobility, and age-related changes
in their digestive systems.

A) indifferent
C) alert

B) committed
D) susceptible

E) ostentatious

There is widespread concern among parents,
educators, and public health experts that ----
smartphone use may contribute to adolescent
depression and suicide.

A) proficient
C) debatable

B) excessive
D) swift
E) frustrating

6.

@AKIN

@AKIN

@AKIN

10.

@AKIN

ADJECTIVETESTS

Several scientists are of the opinion that if
humankind wishes to have a future on this
planet, it is absolutely ---- that we find another
energy source.

A) inevitable B) ambiguous

C) relevant D) suitable

E) temporary

Australia is facing the grim consequences of
climate change and if the world continues to
ignore its present conditions, much of mainland
Australia is predicted to become ---- within 80

years.
A) unprecedented B) uninhabitable
C) invaluable D) inseparable

E) unspectacular

. China’s spectacular economic growth over

the past two decades has brought with it
skyrocketing pollution and a/an ---- depletion of
natural resources.

A) awesome

C) solid

B) significant
D) resilient

E) spectacular

During childhood, boys experience migraine
far more common than girls, but at the onset of
puberty, it becomes much more ---- in women
and remains constant throughout the rest of
the lifespan.

A) doubtful B) prominent

C) plausible D) satisfactory

E) prevalent

While the use of conventional power plants

to provide heating is widespread in Russia
and Eastern Europe, China aims to be the first
country to build reactors ---- to the task of
warming its cities.

A) dedicated

C) inclined

B) incidental
D) responsive

E) indifferent

(N)AKINDL
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1. Until the Scientific Revolution, most human
cultures did not believe in progress as they
thought the golden age remained in the past,
and the world was ----, if not deteriorating.

6.

A) stagnant B) successive

C) terminal D) treacherous

@AKIN

E) ultimate

Happiness is, by its very nature, some sort
of ---- feeling of pleasure, so in order to judge
people’s happiness, all we need to do is to ask

them how they feel.
A) conventional B) consecutive
C) subjective D) penetrable

E) decisive

@AKIN

Despite ---- media reports suggesting that
shark attacks are on the rise, such assaults
on humans are exceedingly rare and not even
encountered in some areas for a long time.

A) accessible B) misleading

C) equivalent D) reflective

E) accurate

Asthma is a chronic disease characterized by
---- attacks of breathlessness and wheezing,
which vary in severity and frequency from
person to person.

@AKIN

A) sedative B) inefficient

C) ambiguous D) loose

E) recurrent

Mars may seem barren and ---- today, but it
was once warmer than it is now and covered in
rivers, lakes, and seas, all of which make life
more likely.

A) tentative B) accessible

@AKIN

C) elaborate D) conventional

E) inhospitable

10.

ADJECTIVE TESTS

As the missions of the space era grew,
astronauts became even more and more ----
not only living within their spacecraft but also

venturing outside it.
A) indifferent B) embarrassed
C) infamous D) reluctant

E) sophisticated

Heavy daily technology use is ---- with an
increased risk for mental health problems
among adolescents.

A) blessed
C) initiated

B) associated
D) accustomed

E) expanded

Humanity’s huge appetite for energy has led
scientists to attempt harnessing nuclear fusion,
the power ---—- to the sun and other stars.

A) significant B) dedicated

C) inferior D) inherent

E) eager

In a globalized world with multilingual societies,
knowledge of languages is ---- in facilitating
communication and in allowing people to
participate in society’s cultural, economic, and
social activities.

A) distinguished B) crucial

C) attentive D) peculiar

E) adept

Being physically active is accepted to be so
---- for children as it reduces obesity risk and
improves overall physical and mental health,
fosters social and emotional development, and

academic performance.
A) overwhelming B) demanding
C) beneficial D) volatile

E) restless
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SET 01
1. A dramatic rise in global antibiotic consumption 6. For the last 3 years, international health groups
has caused public health experts to ---- fresh have ---- many African countries to enhance
strategies so that they can cope with the their efforts to fight Ebola in case the disease
disproportionate use of the drugs. claims many more lives.
A) abandon B) recover 2 A) condemned B) impaired
M
C) implement D) revise “@ C) divided D) urged
E) jeopardize E) overlooked
2. Because massive sectors in China generate 7. Even though scientists have been trying

more carbon emissions than any other country,
many parts of the nation have to ---- grave
issues like smog and airborne pollutants.

to prepare future generations for serious
conditions on a changing planet, the lack of
public awareness and inadequate research ----

A) endure B) reject their progress.
C) propose D) devise A) maintain B) achieve
E) debate C) identify D) overcome

E) hinder

@AKIN

3. About 2,000-calorie diets are considered
standard for most adults, as this number is
regarded as adequate to ---- most people’s
energy and nutrient needs.

8. With the proper guidance and tools, children
as young as 4 are capable of mastering
mathematical skills and calculating ability that

. . will ---- enormous benefits that last a lifetime.
A) decline B) avoid A) regulate B) yield
C) overcome D) meet C) discriminate D) accelerate

E) initiate E) discard

4. For the past 3 months, an estimated four million
people worldwide have been marching in a
global climate strike, ---- world leaders should
take action to address climate change.

9. Scientists have found exceptionally well-
preserved microbial remnants in some of
Earth’s oldest rocks in Western Australia,
which is a remarkable advance in the field, ----

@AKIN

A) boosting B) demanding evidence for how life on Earth originated.
C) deterring D) maintaining A) proposing B) exploiting
E) acknowledging C) intervening D) removing
E) initiating

5. The crucial decision taken by China and the US,
the world’s two biggest gas emitters, to ratify
the Paris Agreement on climate change means
that it will ---- a new era of global cooperation
on limiting greenhouse gas emissions in the
following years.

10. Although everyone understands instinctively
what humor is, and dictionaries may define it
simply as “the quality of being amusing”, it is
difficult to define given that it ---- many relative

| | g aspects.
A) jeopardize B) reverse ® A) suspends B) receives
C) herald D) implement C) eliminates D) involves
E) shatter

E) boosts

(N) AKIN DiLEGITIV
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Many charities and health organizations have 6.
urged many African countries to ---- their efforts
to eradicate lethal diseases such as Ebola in

case the disease may claim many lives.
A) articulate B) facilitate

C) intensify D) surpass

@AKIN

E) allocate

Diseases having emerged across Africa and
Asia are in part nothing new, and have been
---- humanity worldwide since the dawn of
civilization.
A) developing B) alluring
C) harnessing D) disturbing

E) encouraging

@AKIN

Of the children who live in developing
countries, about one-third have to ---- their own
life without the benefit of adequate shelter,
one-fifth don’t have access to safe drinking
water, and one-seventh have no access to basic

health services.
A) diversify B) jeopardize
C) dispense D) broaden

E) sustain

In spite of the fact that air pollution has
dropped in China for the last five years thanks
to strict regulations, current levels still ---- three
times above the World Health Organization’s
limits.

A) extend
C) attain

@AKIN

B) remain
D) endure

E) transmit

. Studies reveal that coffee consumption of more
than 2 cups per day is associated with a 14%
increased risk of ---- lung cancer, in particular
among people who smoke.

A) contracting B) dissuading

@AKIN

C) recovering D) regulating

E) deteriorating

10.

VERB TESTS

Infrastructure is an investment that has various
noticeable effects throughout a country, ----
lasting economic, social, and environmental

benefits.
A) disintegrating B) outweighing
C) suppressing D) offering

E) abandoning

The Irish government has ---- a host of

national economic programs so that it can
reduce inflation and government spending,
increase labor force skills, and promote foreign
investment.
A) illuminated B) compiled
D) obeyed

E) launched

C) reigned

Nearly 40% of food produced around the world
is never consumed, for it is ---- after harvest
and during transportation or thrown away by

shops and consumers.
A) decomposed B) supplied

C) cultivated D) processed

E) extracted

There is compelling evidence that air pollution
could ---- the risk of respiratory problems such
as asthma as well as organ inflammation,
worsening of diabetes, and other life-
threatening conditions.

A) sustain

C) avoid

B) nullify
D) initiate

E) increase

Under the name of slavery, people were ----,
kidnapped, and murdered for centuries but they

resisted and are still surviving to this very day.
A) encouraged B) amplified
C) stimulated D) praised

E) oppressed
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The rise of new technologies in the late 1700s
in both Europe and North America led to new
city forms characterized by larger numbers of
people living in regions with greater population

A) perception B) density

C) supervision D) incentive

E) maintenance

Some 70 percent of the antibiotics that are used
in many countries are given to farm animals,
routinely in stock feed, simply to promote
growth or as a/an ---- against infection.

A) prediction B) precaution

C) exploitation D) estimation

E) division

There is ample scientific evidence that slower
population growth could help reduce future
greenhouse gas emissions and improve ---- for

adapting to climate change.
A) threats B) compensations
C) proportions D) obstacles

E) prospects

A recent study has shown that more than half
of tree species are at risk of ---- in their natural
habitats, mostly because of global threats to

forests.
A) persistence B) detection
C) incentive D) division

E) extinction

5. As the most plentiful mineral in the body,

calcium plays a key role in the development

and ---- of bones and teeth.
A) suspension B) deterioration
C) maintenance D) adjustment

E) regulation

6.

@AKIN

@AKIN
(o]

@AKIN

10.

@AKIN

NOUN TESTS

Although our brain accounts for just 2 percent
of our body weight, the organ consumes half
of our daily carbohydrate ---- and glucose is its
most significant fuel.

A) compositions B) diversifications

C) deprivations D) requirements

E) disruptions

The world’s oldest known fossil forest has been
discovered in New York state, offering new ----
into how trees transformed the planet.

A) precautions B) insights

C) distinctions D) extensions

E) adjustments

Bullying has long been an undesirable and
challenging aspect of adolescent life, but

the - of smartphones and the rise of social
media has transformed where, when, and how
bullying takes place.

A) proliferation B) proportion

C) conclusion D) elaboration

E) appointment

Singapore’s rapid economic development
during the previous 50 years of independence
has been recognized globally as a highly
prominent ---- of a successful city and state
governance.

A) fertility B) clarity

C) example D) obstacle

E) division

In recent decades, many European
governments have been facing pressure to
reduce the level of pollution in cities to address
growing concerns about the long-term damage
to public health due to ---- to pollutants,

particularly those from vehicle diesel engines.
A) attempt B) dedication
C) exposure D) suspension

E) integration
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VOGATESTS

quality is decreasing along with costs, and the
increased levels of mass-manufactured fashion
products are pushing up the ---- of natural

resources. g

g
A) feature B) detection @
C) obstacle D) consumption

E) objective

NOUN TESTS

SET 10
1. In 2019, researchers in Germany published 6. The emotional ---- that children have with their
the results of a study done on commonly used parents or caregivers can have significant
plastic consumer products, many of which are implications for child development and can last
known to be toxic to humans, causing issues for years.
such as endocrine ---- and cancer. ] A) progression B) attachment
A) implication B) heritage ¥ . -
C) requisite D) description
C) advancement D) disruption @
E) attempt
E) assortment
2. ltis a widely held myth that material ---- makes 7. Some of the gravest ---- of the right to life are
people happy, but the main factor that dictates massacres_, the st:elrva}tlon of entire populations,
happiness is social relationships among and genocide, which is commonly understood
people. as the intentional extermination of a single
' . ethnic, racial, or religious group.
A) frustration B) prosperity A) capabilities B) solutions
larit D ivati
C) regularity ) deprivation C) utilities D) violations
E) redundancy § E) supplements
3. Dolphins’ teeth are believed to function as . )
antennae to receive incoming sound and to E I.EdU er:'\: |r9n_:r_1eln_tal c:)nscfervatlon franl1-e work
pinpoint the exact - of an object. provides the initial impetus for a new policy
to keep the ---- of natural resources within
A) classification B) clarity sustainable limits.
C) location D) diversity A) atrocity B) exploitation
E) exhibition C) confinement D) proposal
E) degradation
4. The universal ---- of house plants is that they
provide a tangible way of connecting with 2 . A .
nature that is absent from an increasingly % 9. The duty of a CEO (Chief Executive Officer)
screen-based world, which could explain ® is the ---- of fundamental objectives that
why their sales rose during lockdown due to economically acquire significant importance.
pandemic. A) capacity B) potential
A) appeal B) challenge C) hindrance D) objection
C) division D) compensation E) fulfilment
E) drawback
5. With the fast fashion business model, clothing 10. The Council of Europe states that the future

European identity to be realized will be based
on respect for common heritage and culture ----

as well as equal respect for every individual.
A) prospect B) difficulty
C) weakness D) incompetency

E) diversity

(N)AKINDLL

www.akindil.

EGITIM

Yaymaik Hizmetleri

com



ADVERB
TESTS

A




VOGATESTS

1.

SET 01

Scientists have been working to understand

how fast the new coronavirus will spread, how
it might respond to the changing weather, and
why it affects some populations more ---- than

others.
A) cautiously B) appropriately

C) severely D) randomly

E) tediously

Even though there have been sophisticated
devices and game-changing technological
innovations, making a precise prediction about

the weather forecast is ---- difficult.
A) questionably B) admirably
C) incidentally D) respectively

E) literally

If we are to ---- make a dramatic leap to an
electric future in the automobile sector, there
is an important hurdle to overcome: we need
genuinely clean batteries.

A) severely

C) truly

B) seemingly
D) vaguely

E) convincingly

When it is compared with other kinds of
cancers, pancreatic cancer is a/an ----
uncommon malignancy, accounting for only 3
percent of life-threatening cancers all over the

world.
A) promptly B) deniably
C) roughly D) relatively

E) intricately

As the world’s population expands, delivering
basic services will become ---- challenging for

many governments around the world.
A) virtually B) increasingly
C) arbitrarily D) exclusively

E) conversely

@AKIN

@AKIN

@AKIN

@AKIN

6.

ADVERB TESTS

In the year 240 B.C., the Greek mathematician
Eratosthenes was the first person to estimate
---- the diameter and circumference of the
Earth.

A) hardly B) slightly

C) solely D) abruptly

E) accurately

Scientists believe that body temperature varies
---- both among and within people, based on
weight, height, physical activity, the weather,
and clothing.

A) mutually B) rapidly
C) dramatically D) knowingly
E) objectively

Droughts associated with climate change are
going to hit vulnerable populations the hardest,
most ---- communities in war-torn countries
such as Yemen and South Sudan.

A) notably B) subtly

C) externally D) respectively

E) firmly

Coffee is one of the most widely consumed
beverages in the world and it is also one of the

most ---- studied components of the diet.
A) uniquely B) suspiciously
C) extensively D) defectively

E) arbitrarily

10. Aging ---- causes a physical decline and our

risk of developing certain diseases such as
heart disease and osteoporosis increases.

A) irrationally B) remarkably

C) narrowly D) inevitably

E) instinctively
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. Even in modern India, matters of marriage

and work are still ---- influenced by the
caste system, despite all the attempts by
the democratic government to break down
distinctions as such.

A) suspiciously B) heavily
C) respectively D) tentatively
E) properly

. Perceived stress, whether about immediate

or long-term issues, may ---- impact even oral
health which, in turn, may lead to cognitive

decline.
A) eligibly B) convertibly
C) particularly D) destructively

E) decently

. Sticky, orange, and homemade within the ears,
earwax is considered a gross nuisance that
people tend to ---- remove and clean from the
body.

A) considerably B) implicitly
C) frequently D) densely

E) offensively

. Gypsy history remained unknown for centuries,

largely because they had no written language,
and ---- enough, they had forgotten where they

came from.
A) especially B) highly
C) strangely D) respectively

E) considerably

. The geological conditions would ---- create
petroleum millions of years ago, when plants,
algae, and plankton drifted in oceans and

shallow seas.
A) subtly B) eventually
C) extremely D) decently

E) profoundly

@AKIN

@AKIN

@AKIN

10.

@AKIN

ADVERB TESTS

The Industrial Revolution created great wealth,
bringing factories, mines, and machinery to
---- rural areas and caused revolutions in both
transport and communications.

A) uniquely B) confidentially
C) previously D) ultimately
E) subsequently

Compulsive behaviors are actions that a
person feels driven or compelled to do ----,
even if those actions appear to be irrational or
pointless.

A) sensibly B) voluntarily

C) repeatedly D) readily

E) respectively

---- populated cities provide full-time
employment not just for professional
shoemakers and doctors, but also for

carpenters, priests, soldiers, and lawyers.
A) Sparsely B) Scarcely
C) Severely D) Densely

E) Dominantly

You might think volcanic eruptions are ---- rare
events that would cause the entire world to take
notice, but it turns out that there are typically
about 50 to 60 volcanoes that erupt each year
on Earth.

A) ambiguously
C) incredibly

B) utterly
D) virtually

E) severely

Two months spent on the Moon would expose
astronauts to ---- the same amount of radiation
as they would get living on the International

Space Station for five months.
A) unequally B) sternly
C) intensely D) roughly

E) principally
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. Scientists have successfully grown a version
of the Wuhan coronavirus, which could ---- the
development of a vaccine against the deadly
iliness.

A) get away with B) catch up with

C) do away with D) end up with

E) put up with

. Health experts, international organizations,
and many governments have ---- greater
coordinated action to regulate antibiotic use
and increase investment in the development of
new drugs.

A) turned down B) called for

C) given away D) taken up

E) put out

. Children who experience maltreatment such as
neglect or physical or sexual abuse are more
likely to ---- immoral and offending behaviors in
adolescence and young adulthood.

A) figure out B) take off

C) switch off D) hand over

E) engage in

During the Neolithic Age, most humans began
to move away from a hunter-gatherer lifestyle
towards one that ---- crops and domesticated
animals to sustain their lives.

A) brought about B) put aside

C) gave up D) depended on

E) turned down

It is obvious that natural disasters all over the
world are inflicting increasingly more damage
and it is likely that even more destructive

events will ---- in the future.
A) show off B) pass out
C) come about D) catch on

E) fall off

6.

@AKIN

@AKIN
(o]

@AKIN

10.

@AKIN

PHRASAL VERB TESTS

Most health experts suggest that artificial
scents such as perfumes and aftershaves
should be banned from medical centers given

that asthma and allergies may ---- such odors.
A) give away B) stem from
C) make up D) bring down

E) take over

Studies show that the damage to one’s body
due to smoking may not be permanent provided
that the person ---- smoking before long.

A) draws on B) goes through
D) looks for

E) hands out

C) gives up

. The widespread use of fire to deliberately

clear the rain forest not only endangers its
rich biodiversity but also releases carbon into
the atmosphere, which ultimately ---- global
warming.

A) contributes to

C) gets rid of

B) derives from
D) refrains from

E) pins down

Japan has officially resumed commercial
whaling after more than 30 years of limiting
whale hunts to “scientific”’ purposes — a
notorious policy that still ---- the deaths of
hundreds of whales every year.

A) gives away B) emerges from

C) sets out D) takes off

E) results in

In recent years, policymakers in the African
continent have increased the share of
government spending on education in
developing countries to ---- the massive youth
unemployment and soaring inequality.

(N)AKINDL
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. We know we dream during our REM sleep
cycles, which occur about every 90 minutes,
but how much you dream can vary ---- your
age, medical conditions, medications, and how

many hours of sleep you get per night.
A) passed out B) based upon

D) filled out

@AKlN

C) accounted for

E) ruled out

Without ladybugs that are known to help in the 7.

control of insect crop pests, invasive species
like caterpillars would do more than ---- and

they would flourish in numbers.
A) cut down B) back off
C) get away D) hang on

E) run over

@AKIN

In terms of reducing our emissions, it is very
late because we are ---- time to avoid what is
generally considered ‘dangerous’ warming.

A) coming along with B) looking forward to

C) running out of D) facing up to

E) doing away with

Although increasing numbers of people are
---- flu caused by a coronavirus, the two chief
indicators of severity, hospitalizations, and
deaths, are not yet elevated.

@AKIN

A) coming down with B) catching up with

C) carrying on with D) falling out with

E) getting away with

Picasso’s father, José Ruiz, who was also a 10.
painter and art teacher, ---- art after seeing his
son’s talent when he was just 7 as he thought

he would lag behind his son.

A) gave up B) took up

@ AKIN

C) cheered up D) made up

E) brought up

PHRASAL VERB TESTS

In terms of relationships, women generally
---- men with masculine faces, upper-body
strength, and a dominant personality, while
men seek women who are beautiful and

affectionate.
A) set aside B) check off
C) look for D) bring out

E) turn against

Playing sports certainly help teenagers grow
socially because as they spend more time with
their peers, they will learn to ---- their shells and
interact better.

A) put up with B) keep up with

C) come out of D) make up for

E) run out of

Research suggests that people may initially
---- narcissists because they seem to possess
stronger self-esteem than they do, a trait that

people often appreciate.
A) look up to B) get on with
C) look down on D) pass on to

E) look out for

Cubism, an artistic movement, in which objects
are analyzed, ---- and reassembled in an
abstracted form, emerged during the early 20t

century.
A) paid back B) pointed out
C) broken up D) put out

E) tried out

Feelings of insecurity can come from many
sources, whether real or imaginary, but
whatever the motivation is, the feeling can be
crippling unless you know how to ---- it.

A) drop by
C)fill up

B) fall apart
D) get around
E) cope with
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Burnout is a reaction ---- prolonged or chronic
job stress and is characterized ---- three main
dimensions: exhaustion, skepticism, and
feelings of reduced professional ability.

A) of / under B) with / as
C) for / about D) to / by

E) over / into

In recent years, the internet and social media
have been integral ---- political protests, social
movements, and election campaigns ---- the
globe.

A) of / over
C)in/ through
E) at / during

B) for / on

D) to / around

Numerous measles outbreaks ---- the United
States have renewed a debate ---- whether
parents should be required to vaccinate their

children.
A) beyond / for B) across / over
C) among / about D) from / against

E) by / through

. Insulin is a hormone that plays a key role

---- the regulation of blood sugar levels, and
impairments in insulin production are the main
characteristic ---- type 2 diabetes.

B) on / for
D) at / with

A) over / about
C) by / into
E)in/ of

. Many countries now face decisions ---- how to

provide water ---- their citizens and it seems
that fortunately there are ways to avert an
upcoming water crisis.

A) with / by
C)on/to

B) for / with
D) by / through

E) into / from

@AKIN

@AKIN

@AKIN

@AKIN

PREPOSITION TESTS

6. Since the Enlightenment, the development

---- modern science and technology has been
associated with the triumph of reason and
science ---- superstition and religion.

A) about / through B) for / between
C) from / among D) of / over
E) in / about

. Children and babies’ developing bodies are

most ---- risk from toxic air, with 300 million
living in places where toxic fumes are six times
---- the required international guidelines.

A) on / beyond B) at / above
C) with / across D) of / through
E) in / about

. There is a growing body ---- evidence that

shows music can significantly improve the
lives of people ---- dementia.

B) for / about
D) of / with

A) into / below
C) through / onto
E)on/at

. Cosmetic surgery can boost a person’s self-

esteem, increase feelings ---- attractiveness,
and even result ---- greater achievement and

success in life.
A) from / upon B) for / from
C) about / on D) at/ over

E) of /in

10. Asthma is a chronic disease ---- the respiratory

system, caused by inflammation of the airways
and is relevant ---- increased morbidity and
mortality.

A) for / with
C)in/into

B) on /by
D) through / over
E) of / to

(N) AKIN DiLEGITIV
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The Roman Empire’s aqueducts carried water 6.

---- lead pipes and many foods were sweetened
---- lead acetate.

A) over / by
C) into / for

B) through / with

D) amid / from

@AKIN

E) along / into

Language, which is mostly identified with
humans, is the blood of the soul ---- which
thoughts run and ---- which they grow.

A) during / from B) of / into
C) around / by D) on / without
E) into / out of

@AKIN

The first step ---- modern advertising came ----
the development of printing in the 15" and 16*"
centuries.

A) toward / with B)in /by

C) for / from D) into / out of

E) of / along

The Sun formed 4.5 billion years ago, and
---- telescopes we can see stars forming ----
compressed pockets of hydrogen in outer
space.

@AKIN

A) by / against B) along / by

C) through / out of D) with / on

E) for / with

Down Syndrome International encourages 10.
people in the world to help raise awareness of
what Down syndrome is and how people ---- the

iliness play a role ---- the lives of relatives.
A) for / of B) with /in
C) from / by D) about / at

@AKIN

E) over / for

PREPOSITION TESTS

Despite the Internet’s steady rise ---- popularity
---- the last few years, television remains the
dominant medium in most households.

A)in/over

C) at/ for

B) by /in
D) of /on

E) over / with

Advertising may be used as an instrument
of cheating, so false statements are given
---- regard to different virtues of a product to
impress ---- the people.

A)to/on
C)in/for

B) with / upon
D) by / of
E) of / with

Eating avocados ---- a regular basis help
prevent your chances ---- cancer because of
the several ingredients like phytochemicals,
phenols, and xanthophyll.

A) at / with B)in/ by
C)on/ of D) for /in
E) by / through

When drones first started being sold, they
were simply too expensive and hard to fly
especially ---- beginners and amateurs, and
were unavailable ---- reasonable costs.

A) for / at B) to / with
C) upon / beyond
E) by / for

D) among / from

Children learn how to sleep from their parents,
so the habits you establish today can help them
maintain healthy sleep not just ---- childhood,
but ---- the rest of their lives.

A) during / at B) at/in
C) for / from D) in / for
E) along / with
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VOGATESTS TENSE-PASSIVE-MODAL TESTS

SET 01
1. Bacteria ---- at far higher temperatures, which 4. The origin of taxation in the United States ---- to
provides them with a favorable environment the late 18" century, when the colonists ---- by
to rapidly increase in numbers, ---- better Great Britain on everything from tea to legal
opportunities for mutation and transmission. and business documents.
A) must thrive / created 2 A) must be traced / would be taxed
M
B) should have thrived / to create “@ B) will be traced / have been taxed
C) would thrive / having created C) was traced / had been taxed
D) may thrive / to be created D) can be traced / were taxed
E) can thrive / creating E) have been traced / may have been taxed

2. Recent studies ---- that by 2050 the average 5. For the first time, scientists ---- that different
number of tree species found in any one part of 5 parts of the brain ---- responsible for specific
the Amazon rain forest ---- by 58 percent. < functions, whether it is recognizing colors or

; . @ problem-solving.

A) predict / may have declined

A) will show / must have been
B) had predicted / should decline
B) are showing / may be
C) predicted / must decline
C) showed / should have been
D) have predicted / will have declined
D) were showing / would have been
E) would predict / could decline
E) have shown / might be

@AKIN

3. Earlier this year, the US Food and Drug 6. Babylonian mathematics ---- roots in the
Administration ---- that it ---- to regulate the numeric system started by the Sumerians, a
level of nicotine in cigarettes, attempting to civilization that ---- in Mesopotamia, or southern
bring it down to “non-addictive” levels. Iraq.

A) announced / would begin A) had had / was originating
B) announces / will begin B) will have / has originated
C) had announced / began C) is having / originates

D) is announcing / could begin D) has / originated

E) would announce / is to begin E) had / might originate

@AKIN
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A new study ---- more evidence suggesting that 4.

people ---- from type 2 diabetes are at higher
risk of developing Parkinson’s disease.

A) provided / to suffer
B) had provided / having suffered

@AKIN

C) would provide / to be suffered

D) is providing / to have suffered
E) has provided / suffering

---- in tropical regions, rainforests ---- a greater 5.

diversity of plant and animal life than any other
type of ecosystem.

@AKIN

A) To have been located / had possessed

B) Located / possess
C) Locating / has possessed
D) To be located / will possess

E) Having been located / may possess

@AKIN

Scientists have long warned that if the rise 6.

of sea levels as a result of global warming
and melting ice caps ----, the habitats of both
humans and animals ---- to the ocean.

A) had continued / had to be lost

B) would continue / must have been lost
C) continues / could be lost

D) has continued / should be lost

E) continued / must be lost

@AKIN

TENSE-PASSIVE-MODAL TESTS

New evidence ---- that poor indoor air quality,
thermal, acoustic, and lighting conditions
---- the quality of learning due to discomfort
and impaired mental and physical health of
students.

A) has confirmed / should influence
B) confirmed / used to influence

C) had confirmed / had to influence
D) confirms / may influence

E) will confirm / could influence

2019 air pollution contributed to around
6,670,000 deaths, ---—- air pollution remains
the fourth leading risk factor for early death
worldwide, ---- only by high blood pressure,
smoking, and poor diet.

A) meaning / surpassed

B) to mean / to have been surpassed
C) to be meant / having surpassed
D) to have meant / being surpassed

E) having meant / surpassing

Scientists ---- what they believe to be the
earliest human footprints in the Arabian
Peninsula, a crossroads of the world that ---- a
key role in understanding how humans left their
African homeland and began to colonize the
world.

A) reveal / will play
B) have revealed / plays

C) will reveal / must have played
D) used to reveal / played

)

E) had revealed / would play
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1. Thanks to the Industrial Revolution, the 6. France, which depends on nuclear power for
transportation industry saw significant more than 75% of its electricity, aims to cut
changes in people’s daily lives; ----, with the that rate to about 50% by 2035 ---- boosting
introduction of the steam locomotive, people renewable energy resources.
could transport raw materials and goods over A i .
long distances. g ) unti B) since
A) rather B) for example <@ C) while D) but
C) however D) furthermore E) whereas

E) therefore

7. Many bird species are of paramount importance

2. Burnout is a state of emotional, physical, to ecosystems, ---- they control pests, pollinate
and mental exhaustion caused by excessive flowers, spread seeds, and regenerate forests.
and prolonged stress and occurs ---- you feel
overwhelmed, emotionally exhausted, and A) whereas B) now that
unable to meet constant demands. C) until D) even when
A) when B) whereas E) only if
C) even though D) as though 2

M
E) by the time é
8. ----women’s equal rights have become an
international norm and governments have

3. Like many other superstitions, many mistaken adjusted their laws to do so, in practice gender
centuries --- the science of mathematics has world.
examined and invalidated them. A) Unless B) Although
A) so that B) because C) Just as D) Since
C) just as D) even after E) So long as

E) as long as
\ £ 9. Experts estimate that global malnutrition and

4. ----market-friendly reforms have succeeded < malaria will be virtually eliminated by 2040
in pulling millions of Indians out of poverty, S ---- world leaders opt for supporting scientific
economists express that a significant innovations.
proportion of the population is not reaping the
benefits of economic growth. A) in case B) until
A) Once B) Unless C) whereas D) only if
C) Since D) While E) though

E) In case

5. - globalization has brought economic and 10. Artificial light Fan negatively impact your health
social opportunities to both developed and and your quality of sleep; ----, you should
developing countries, it has also yielded expose yourself to natural light as much as you
numerous unintended consequences. = can during the day.

A)As B) Just as 4@ A) therefore B) in addition
C) Though D) Provided C) otherwise D) in other words
E) After E) indeed

(N) AKINDILEGITiV
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. =----you have not been diagnosed with a mental
iliness, day-to-day stresses can easily drain
your life of fulfillment and contentment.

B) Although
D) Given that

A) Because
C) Unless
E) As long as

. ---- hunter-gatherers could not rely on
agricultural methods to produce food
intentionally, they worried about whether
overfishing a lake would deplete their only food
source.

A) Although
C) Unless

B) If
D) Since
E) Just as

. - earliest astrology was used to bring a sense
of order out of apparent chaos, it was soon
utilized to predict weather patterns, primarily
for agricultural purposes.

A) While B) Given that

C) Once D) As long as

E) Provided that

. The European Investment Bank has announced
that it will stop financing fossil fuel projects

---- the money could be directed to clean energy
innovation, efficiency, and renewable energy,

instead.
A) so that B) only if
C)in case D) if

E) lest

. Spectroscopic examination of Venus has
suggested that its atmosphere is similar to the
Earth’s, containing water vapor and oxygen;
----, it seems most probable that life must exist
on this planet as well.

A) rather
C) therefore

B) even so
D) moreover

E) namely

@AKIN

@AKIN

2
E
©

@AKIN

CUMLE ALAN BAGLACLAR

Different societies adopt different kinds of
imagined hierarchies; ----, caste was a matter
of life and death in medieval India, while in
modern Europe it is practically non-existent.

A) thus B) instead
C) however D) otherwise

E) for example

. A number of astronomers and mathematicians

tried to calculate the distance from the Sun to
the Earth, ---- their methods provided widely
contradictory results at the end of all those

challenging attempts.
A) as B) yet
C)just as D) so

E) or else

. According to the recent studies of the hormonal

and cognitive systems of men and women, men
have more aggressive and violent tendencies;
---—-, they are better suited to serve as common

soldiers.
A) instead B) moreover
C) similarly D) therefore

E) in contrast

. The construction of the steam locomotive has

been called the most important milestone in the
progress of modern transport, ---- much more
important than this was the invention of the

steam engine itself.
A) otherwise B) for example
C) similarly D) so

E) yet

10. ---- Coca-Cola is sold practically everywhere,

it hasn’t officially made its way to North Korea
or Cuba, as they are under long-term U.S. trade
embargoes.

(N)AKINDLL

www.akindil.com 147

A) While B) As long as
C) Now that D) Unless
E) When
EGITiV

Yaymahik Hizmetleri




KALIP
BAGLACLAR

A



VOGATESTS

SET 01

. For the first time in history, the world’s
population is expected to virtually stop growing
by the end of the 215 century ---- falling global

fertility rates.
A) similar to B) along with
C) contrary to D) rather than

E) as a result of

. Some 40 percent of U.S. adults report that they
live with one or more chronic conditions ----
high blood pressure, lung conditions, diabetes,

heart disease, or cancer.
A) including B) contrary to
C) rather than D) in terms of

E) by means of

. Recent estimates suggest that extinction

threatens up to a million species of plants and
animals ---- human activities like deforestation,
hunting, and overfishing.

A) such as B) because of

C) instead of D) in spite of

E) as well as

Litter, plastics, in particular, have dramatically
accumulated in our seas and coasts ---- current
unsustainable consumption and production
patterns, poor waste management, and the lack

of public awareness.
A) along with B) in spite of
C) apart from D) owing to

E) unlike

. Some countries have taken many refugees,
offering them free public health care and

education ---- easy access to the labor market.
A) instead of B) in case of
C) with regard to D) despite

E) as well as

@AKIN

@AKIN

2
E
©

@AKIN

10.

KALIP BAGLACLAR

---- many efforts of countries around the world
to halt the use of plastic altogether, the amount
of plastic in the world’s oceans is increasing
and spreading across the planet.

A) In terms of

C) Rather than

B) Thanks to
D) Along with
E) In spite of

Increasing energy prices have made farming
production expensive by raising the cost

of inputs such as fertilizer, seeds, farm
machinery use, and irrigation ---- transport and
manufacturing processes.

A) in case of B) in addition to

C) owing to D) despite

E) as opposed to

Almost a third of the world’s sharks are
endangered and at risk of extinction, chiefly ----
human activities and climate change.

A) instead of B) besides

C) in terms of D) due to

E) despite

---- considerable progress in analyzing traces
of the early migrations to the Americas, there
is doubt about the time of the arrival of the first
humans.

A) Together with B) Despite

C) In pursuit of D) Thanks to
E) Rather than

---- safe, sufficient, and nutritious food

for Earth’s 7.7 billion human inhabitants,
agricultural leaders have invested in high-
yielding crop varieties, innovated methods
of fertilization, irrigation, and cultivation, and

expanded farmlands.
A) According to B) In pursuit of
C) As opposed to D) At odds with

E) In terms of
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SET 10

. Tutankhamun of the 18th dynasty in Egypt is
perhaps the best-known of all pharaohs thanks
to the discovery of his tomb in the Valley of the
Kings, ---- his short lifetime and reign.

A) because of B) in addition to

C) despite D) as opposed to

@AKlN

E) in case of

The null hypothesis assumes changing

the independent variable will not affect

the dependent variable ---- the alternative
hypothesis, which suggests changing the
independent variable will affect the dependent

variable.
A) owing to B) besides
C) in spite of D) as opposed to

E) in favor of

@AKIN

---- how painful and disabling multiple
sclerosis, rheumatoid arthritis, and diabetes
can be, it is no surprise that people with
chronic ilinesses are two to three times more
likely than the general population to suffer from
depression.

A) Apart from
C) In addition to
E) Given

B) In case of

D) Regardless of

. =-== their prominent role as the building blocks
of numbers, prime numbers have fascinated
mathematicians for ages.

A) Given B) Despite
C) Rather than

@AKIN

D) In the event of

E) Regardless of

According to a recent study, women leaders
are more empathetic and flexible, ---- stronger
in interpersonal skills than their male
counterparts, which enables them to read
situations accurately and take information in

from all sides.
A) rather than B) in pursuit of

D) for the sake of

@ AKIN

C) in spite of

E) as well as

10.

KALIP BAGLACLAR

---- the persistence of disease and pandemics
throughout history, the most consistent trend
over time is a gradual reduction in the death

rate.
A) But for B) With respect to
C) Thanks to D) In spite of

E) As well as

---- rising obesity rates all around the world,
public health authorities are constantly
searching for approaches to better manage our

weight and our health.
A) In case of B) In contrast to
C) Because of D) Despite

E) In addition to

Unlike typical medicines, vaccines have the
incredible superpower of protecting whole
communities ---- just the individual.

A) with the help of
C) thanks to

B) rather than
D) as regards

E) irrespective of

---- easing seasonal affective disorder (SAD)
symptoms, time spent in natural light gives our
bodies a chance to soak up vital rays.

A) In spite of B) In addition to

C) Contrary to D) In terms of

E) Similar to

---- the limits of our understanding, what
began as an apple falling from a tree in

the seventeenth century has led to some
remarkable insights into the mysterious forces
that guide the universe.

(N)AKINDL

A) But for B) Despite
C) Thanks to D) As well as
E) As opposed to
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VOGATESTS

. Cacao was --=- crucial to ancient Mesoamerican

civilizations ---- they used it in religious rituals
and as currency in commercial operations.

A) both / and
C) such / that

B) so / that
D) as well / as

E) more / than

SET 01
6.
2
|
©
7.

. In ancient times, Rome, which was a term that

stood ---- for the city of Rome ---- for the entire
world dominated by the Romans, was one of

the world’s great civilizations.
A) as/as B) rather / than
C)such/as D) neither / nor

E) not only / but also

. Arecent study suggests that ---- every person

tends to yawn, ---- many vertebrate animals
including snakes, dogs, cats, sharks, and
chimpanzees have a predisposition towards
yawning.

A) either / or B) the more / the more
C) hardly / when D) just as/so
E) whether / or

For centuries, human beings have observed
the sky ---- to understand the physical laws that
govern the universe ---- in order to interpret it.

A) just/as B) neither / nor

C)as/as D) either / or

E) such / that

Everyday items such as soaps, perfume, paint,
and pesticides contribute ---- heavily to certain

sorts of air pollution ---- cars and trucks.
A) either / or B)as/as
C) not only / but also D) just/ like

E) such/as

@AKIN
(-]

@AKIN

10.

@AKIN

IKiLi BAGLACLAR

According to some people, coffee’s benefits
are thought to stem from ---- caffeine ---- other
compounds, notably antioxidants that clean the
body and protect it from cancer.

A) whether / or B) just as / so

C)so/as D) neither / nor

E) both / and

Diabetes is a chronic disease in which the body
is not able to correctly process glucose for cell

energy because of ---- an insufficient amount of
the hormone insulin ---- a physical resistance to
the insulin the body produces.

A) whether / or B) such / that
C) rather / than D) neither / nor
E) either / or

. An important role for art in the Roman Empire

was to convey the power and accomplishments
of the emperor, ---- to his subjects in all walks
of life ---- to possible rivals among powerful
senators and generals.

A) such/as
C) both / and
E) rather / than

B) neither / nor

D) as well / as

The memory loss resulting from dementia
is ---- severe for many people ---- it affects
an individual’s work, relationships, social
activities, and hobbies.

A) so / that
C) such / that

B) not only / but also
D) whether / or

E) more / than

Having the world’s largest population, China
---- aims at becoming the largest economy,
---- wants to lead the world when it comes to
artificial intelligence (Al).

A)justas/so B) neither / nor

C) more / than D) not only / but also

E) the more / the more

(N)AKINDLL
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. Energy footprints have been shown to grow
with expenditure, and they are unequally
distributed, ---- within countries ---- between
them.

A) rather / than B) both / and

C) neither / nor

E) whether / or

D)as/as

@AKIN

. When you live in a city, green spaces can make
a huge difference ---- because it improves your
mental health, ---- because it contributes to
your physical health.

A) neither / nor

C) so/ that

B) more / than
D) either / or
E) not only / but also

@AKIN

Hypnosis can be ---- effective for pain relief

-—-- since 1992, it has been used in many
surgical procedures as an alternative to general
anesthesia.

A) so / that
C) either / or

B)as/as
D) such / that
E) rather / than

In ---- countries ---- Malaysia and Indonesia,
cutting down rainforests to make way for palm
oil causes devastative events for wildlife and
releases a lot of carbon dioxide.

2
E
©

A) such / as
C) so/ that

B) more / than
D) neither / nor
E) whether / or
10.
Identical twins are ---- likely to resemble
---- non-identical twins in sharing particular

qualities such as determination, self-control,
and a sense of purpose.

A) so / that
C) such / that

@AKIN

B) whether / or
D) more / than

E) such / as

. While self-efficacy refers to an individual’s

iKiLi BAGLACLAR

judgments of their own abilities, self-concept
is more general and includes ---- cognitive ----
affective judgments about oneself.

A) whether / or
C) both / and

B) more / than
D)as/as

E) neither / nor

In general, stars have ---- enormous distance
between them ---- it is unlikely that any two will
ever meet and collide.

A) such / that
C) both / and

B) so / that
D) justas/so

E)as/as

Fake videos which are created by artificial
intelligence are today ---- persuasive ---- film-
makers are using them for the works.

A) so / that B)as/as

C) more / than D) such / that

E)justas/so

Water is crucial to sustaining life in that it
---- supports plants and animals ---- helps
distribute the heat on the Earth.

A) neither / nor B) whether / or

C) such / that D) not only / but also

E)as/as

Although only about 5 percent of Canada’s land
is suitable for farming, Canada produces large
amounts of food ---- for domestic use ---- for

export.
A) neither / nor B) so / that
C)as/as D) not only / but also

E) whether / or
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. Most parents are aware that physical activity is
beneficial for their children ---- it can help them
improve their sense of self and have a positive
impact on their mental health and well-being.

A) until
C) although

B) unless
D) in that
E) providing that

. --—-plants in greenhouse areas grow faster and
more abundantly when provided with elevated
levels of CO2, herbs in natural ecosystems
develop quicker as the concentration of CO2 in

the global atmosphere increases.
A) Just as B) In case
C) As soon as D) Even though

E) On condition that

. Almost 100,000 people die all over the world

every single year ---- exposure to hazardous
particles within power plant emissions.

A) regardless of B) as well as

C) despite D) rather than

E) owing to

. ---- Greek artists largely preferred to
commemorate historical events through
mythical scenes, Roman artists often chose to
depict real participants and aspects of actual
historical events.

A) Unless
C) Just as

B) Whereas
D) As long as
E) After

Raising multilingual or bilingual children has
many benefits; ----, it can help to create a

strong family and cultural bonds.
A) similarly B) therefore
C) instead D) however

E) for example

@AKIN

@AKIN

@AKIN

@AKIN

KARISIK BAGLACLAR

. =--—=ancient Egyptian mummy portraits have

long been objects of curiosity, only a minimal
amount of scholarship exists about them.

A) In case

C) Given that

B) Because
D) Even though
E) Once

. =----we now know much about Sumerians,

there are many puzzling aspects about the
first civilization on Earth we may never fully

appreciate.
A) Just as B) Although
C) As soon as D) Unless

E) As long as

. === humans have yet to arrive and there are still

plenty of mysteries to solve, scientists have
figured out a great deal about Mars.

A) Once B) Since
D) While

E) Provided that

C) In case

. -——- decades of compelling evidence from

astronomical observations showing the
existence of dark matter, all attempts to detect
its components have failed.

A) Due to
C) Despite

B) Apart from
D) In terms of

E) Instead of

10. Ebola is a relatively new disease compared

to many other diseases in terms of scientific
research; ----, there is still a lot to learn about
Ebola and how it affects patients, survivors,
and the world.

A) similarly
C) rather

B) on the contrary
D) however

E) thus

(M) AKINDLS
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---- urbanization and human activity have 6.
certainly decreased the diversity of animals on

Earth, some species have become enormously
abundant, and these are usually the ones that

adapt well to human behavior, like mice.
A) Just as B) Though
C) Once

@AKIN

D) In case

E) As

Music is regarded as a fundamental channel
of communication ---- it provides a means by
which people can share emotions, intentions,

and meanings.
A) whereas B) so that
C)in case D) given that

E) before

@AKIN

Before World War Il, archaeological research
was funded mostly by museums or wealthy
individuals or foundations, ---- they wanted to
discover spectacular remains of temples and
palaces, and the structures of everyday life.

A) so
C) though

B) unless
D) because

E) for example

---- the effects of aging have always been
abundantly unambiguous, what is going on
inside our bodies that makes those things
happen remains obscure.

B) Unless
D) Once
E) When

@AKIN

A) Because

C) Although

---- meticulous surveillance systems and the
existence of food preservation technologies
such as thermal processing and irradiation that
normally work well, people can sicken and die
from contaminated food.
A) Thanks to B) Contrary to
C) In spite of D) On behalf of

E) With regard to

@AKIN

KARISIK BAGLACLAR

--—-you are fluent in two languages, it can be
a challenge to switch back and forth easily
between them.

A) Once B) Even if
C) Unless D) As
E) After
---- millions are forced to leave their homes

because of violent conflicts or natural
disasters, the main reason people immigrate is
economic, which is the search for better-paying
work and a brighter economic future.

A) Provided B) Once
C) Until D) Given that
E) Even though

Psychologists have long considered the
possibility of active forgetting for more than
half a century, ---- only in the last 15 years or
so researchers have accumulated substantial
neurobiological evidence on the issue.

B) if
D) so

A) once
C) but
E) as

The development of children with some forms
of Batten disease appears quite normal, ----
parents don’t suspect that anything is wrong at

first.
A) so B) moreover
C) since D) otherwise

E) unless

10. The human brain has a limited capacity for

repair, so ---- a region of the brain is injured, it
cannot be replaced.
A) though B) until
C) given that D) as long as

E) once
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The current global average temperature is 3.
considered (1) ---- 0.85°C higher than it was in the
late 19th century. Each of the past three decades
has been far warmer than any previous decade C) given up D) looked for
(2) ---- records began in 1850. The world’s leading
climate scientists assume that human activities
have (3) ---- this warming observed as of the
middle of the 20" century. An increase of 2°C
compared (4) ---- the temperature in pre-industrial
times is seen by scientists as the threshold beyond
which there is a much higher risk that dangerous
and possibly catastrophic changes in the global
environment will occur. (5) ----, the international
community has recognized the need to keep
warming below 2°C.

A) taken over B) brought about

E) made out

@AKIN

A) to reach B) reaching A) against B) for
C) about D) to

E) being reached E) by

@AKIN

C) to have reached D) reached

@ AKIN

A) when B) although A) However B) Moreover
C) so that D) since C) Otherwise D) In other words
E) provided E) Therefore

@AKIN
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Cultivation theory is a concept that considers the 3.
social ramifications of the effects of consistent
television watching (1) ---- the long term. The
word cultivation represents the idea that regular C) were developed D) are developed
(2) ---- to television will over time distort the
viewer's conception of reality. The ideas behind

the cultivation theory (3) ---- by communications
professor George Gerbner during his time at the
University of Pennsylvania in the 1960s. Gerbner
was also responsible for the related concept of the
mean world syndrome, in which he postulates that
exposure to mass media depictions of violence and
other negative content causes viewers (4) ---- that
reality is more unforgiving or dangerous than it
actually is. He also offered ideas on how viewers
of television (5) ---- these negative effects for
themselves and how to avoid them.

A) have been developed B) had been developed

E) would be developed
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1 4.
=
A) from B) on ¥ A) believing B) to be believed
C) with D) about @ C) to have believed D) to believe
E)in E) having believed
2
M
g
©
2 5.
A) exposure B) response A) used to recognize B) could recognize
C) approach D) solution C) should recognize D) must recognize
E) threat E) had to recognize
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9. Inventors in the golden age were less likely to 10. Among the many issues raised during the
marry and they had fewer children, ----. COVID-19 pandemic, ==--.
A) but the impact of innovation on economic A) these issues have unfortunately been
growth was typically large underestimated by political authorities

B) so talented individuals from low-income families B) the given chances of being infected are rather
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were more likely to be excluded high

C) because of the strict social norms that dictated C) finding an effective vaccine has preoccupied
every man should be socially tied to his family scientists more than anything

D) as they never sought to live in isolation but to D) the pandemic wreaked havoc on financial
be among the general populace markets as well

E) which paved the way for a vast array of E) the mortality rate is still way lower than
novelties created in isolation anticipated
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9. Maintaining harmony within interpersonal
relationships is of utmost importance in a
collectivistic culture, ==--.

A) but different cultural practices are pervasive
and can influence many aspects of how society
functions
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B) so can individualism, which is focused on the
rights and concerns of each person

C) because failing to keep the peace can mean
long-term unhappiness for every one of the
members

D) similarly, workers who live in a collectivist
culture might strive to sacrifice their own
happiness

E) even though it emphasizes the needs and goals
of the group as a whole
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10. ----, researchers are racing to understand what

CUMLE TAMAMLAMA

makes it spread so easily.

A) In order to cure the ones who have been
infected with coronavirus and SARS virus

B) As the number of coronavirus infections
has approached nearly 50,000,000 people
worldwide

C) Unless urgent steps are taken to prevent the
spread of the new coronavirus around the globe

D) Although coronavirus spreads much more
readily than the ones that caused the severe
acute respiratory syndrome

E) While coronavirus has infected more than ten
times the number of people who contracted
SARS
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